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QUESTION 1

Which of the following technologies has the potential to result in significantly higher utilization of a SAN switch port?
A. NPIV

B. FCoE

C. VSAN

D. Multipathing

Correct Answer: A

QUESTION 2

Which of the following topologies is capable of handling up to 127 devices?
A. Mesh

B. Arbitrated loop

C. Switched

D. Point-to-point

Correct Answer: B

QUESTION 3

Node A is a member of SAN Zone 1 and SAN Zone 2. Node B is a member of SAN Zone 2. Node B has just been
replaced and the storage administrator is troubleshooting connectivity issues between Node A and Node B. Which of
the following is the MOST likely cause of the issue?

A. Nodes cannot be a member of multiple zones.

B. Node B is an unauthorized host cabled to the wrong SAN switch.

C. Zone configuration is causing undesired Registered State Change Notification events.

D. Zone configuration may need to be updated with the new port WWN.

Correct Answer: D

QUESTION 4

Which of the following is the NATIVE capacity of an LTO-4 tape cartridge?
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A. 200 GB
B. 400 GB
C. 800 GB
D. 1TB

Correct Answer: C

QUESTION 5

An administrator is attempting to recover corrupted data from a four disk RAID group. However, the administrator does
not know which RAID level was used. When investigating the volumes, the administrator notes that there is a duplicate
of

all data on two of the disks.

Which of the following RAID levels was in use?

A.RAID O

B. RAID5

C.RAID 6

D. RAID 10

Correct Answer: D
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